
It’s your turn to solve the problem...

The sporty pupils practise  hip-hop.

The ticket for their show costs 82

pounds. 

Questions: How many pounds for 2

people? How many pounds for 6

people? How many pounds for 12

people? 
A word problem written by Anaïs, Sirine,
Elisha, Loucas and Lubin in Year 5
(primary school Charles Exbrayat)



It’s your turn to solve the problem...

Grandpa goes to a friend‘s house to

celebrate Christmas. His friend lives

in Paris and grandpa lives in Marseille.

Grandpa takes the plane: he leaves

at 4.35 pm and arrives at 6.12 pm.

Question: How long does it take

grandpa to arrive in Paris?
A word problem written by Maéli,
Maylie, Chloé and Ivan in Year 6 (primary
school Charles Exbrayat)


